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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 233,600 231,300 2,300
02 PIZHEHAHEE 50,000 231,300 A 181,300
OFHENBIIsLEE A ALHHIXH 50,000
03 IAHMEE2HHIES 183,600 0 183,600
OsEXNSIIsLdEgds 2LHIXNE 183,600
S3u=s MA A= 380,000 150,000 230,000
= 150,000
< 230,000
307 21201 A 300,000 90,000 210,000
= 150,000
< 150,000
02 IZHE S AHE L 300,000 90,000 210,000
OXNgasZdusdy X2 300,000
= 150,000
< 150,000
308 XXM SOl A 80,000 60,000 20,000
01 IXNHHBNEES 80,000 60,000 20,000
OXdstdusHE XHA(4HL) 80,000
JI=HsNsHH 29X & 70,000 72,000 A 2,000
= 35,000
< 35,000
307 21201 A 70,000 72,000 A 2,000
= 35,000
< 35,000
02 QB AAFEX 70,000 72,000 A 2,000
OJI=zgstusdy 2L X 70,000
= 35,000
< 35,000
sSY SMAIMANEEH AE 200,000 0 200,000
= 100,000
< 100,000
307 glz2tol & 200,000 0 200,000
= 100,000
< 100,000
05 RIZIRIE 3 200,000 0 200,000
O sSMIAMAALAEH A 200,000
= 100,000
< 100,000
JIZRe A 1,492,500 1,175,800 316,700
= 463,000
< 1,029,500
=83 HE 2 HE 1,492,500 1,175,800 316,700
= 463,000
< 1,029,500
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HIAHSE AISE 240tA MHHALE(Z) 40,000 38,000 2,000
= 20,000
< 20,000
307 gl2tol & 40,000 38,000 2,000
= 20,000
< 20,000
02 It HAHE L 40,000 38,000 2,000
OHIAEEZ AIYEE 24ItA MHHLE(E) 40,000
= 20,000
< 20,000
HIAGEE AFHE 240tA MNHALE (A2 A 143,000 164,800 A 21,800
= 110,000
< 33,000
308 XXM SO A 143,000 164,800 A 21,800
= 110,000
< 33,000
01 AXHHILEES 143,000 164,800 A 21,800
OHIASEEZ AIEE 24ItA MHHLE (A2
) 143,000
= 110,000
< 33,000
EEAZOIER DIt QIMEIE XIZ(%) 60,000 50,000 10,000
= 30,000
< 30,000
301 et d = 60,000 50,000 10,000
= 30,000
< 30,000
MIEEd=s 60,000 50,000 10,000
OEAXQOERN U7 AMEE XS(Z) 60,000
= 30,000
< 30,000
EEANOIERN JIIt7 CIMEE Xz (AZZ4) 234,000 227,500 6,500
= 180,000
< 54,000
308 XtXIEHH SOl A 234,000 227,500 6,500
= 180,000
< 54,000
01 X HHILEES 234,000 227,500 6,500
OEAZAER IJH It Al &
=) 234,000
= 180,000
< 54,000
QI=EE MEA SM0t 45,000 45,000 0
308 XXIEHH SOl A 45,000 45,000 0
01 AXHHBIYEES 45,000 45,000 0
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L=
SA - BB B () - MM - BES Ol &t o San HmEET
OFUF=Ed ME A =M0IE =4 45,000
SEEE JI=HIAZSUHM 0/BI AR 13,500 13,500 0
207 A RO & H| 13,500 13,500 0
01 289 13,500 13,500 0
OZHYST JISHXSUY 0|} o (0l
AFE2ZE 10%) 13,500
Moot D283 ARL S 330,000 330,000 0
306 ¢ 2 330,000 330,000 0
01 &3 330,000 330,000 0
OAMNdligt D28 ZHRAL EAHZ 330,000
X 33 g8 20,000 0 20,000
201 Let2d| 20,000 0 20,000
01 At 22l 20,000 0 20,000
OuUX 2 g2 20,000
SNE HUXNEE =X 150,000 0 150,000
308 XtXIEHHSOIA 150,000 0 150,000
10 B2 SUHUEE &S A 150,000 0 150,000
OE A& ZIWUUX 2dHEA JHF 150,000
S3EL J=dstiE sEHE =8 100,000 0 100,000
207 Ao 2| 100,000 0 100,000
01 2284 100,000 0 100,000
OFHEE JI=dsHE sEHE =8 100,000
JIZFHSHUX 328 =4 60,000 0 60,000
403 MtXISHH S =0l & 60,000 0 60,000
01 XM A2E X 60,000 0 60,000
OJIZFHSHURX ME=0H =24 60,000
Jl=dsl M3 85 ANEAY 160,000 0 160,000
= 123,000
< 37,000
403 XIS E X201 E 160,000 0 160,000
= 123,000
< 37,000
01 XXM A2E = 160,000 0 160,000
OJIZ8a HE Hd& AlEHAEY 160,000
= 123,000
< 37,000
F2Y S B X MY 127,000 0 127,000
403 UHXSHHSA=0l& 127,000 0 127,000
01 XM= L 127,000 0 127,000
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M J|BEE MR
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ=2Y B2 AL (&) 40,000
OZ=2Y HZZ A (EHeH) 87,000
ANEESZAS (KM X)) 10,000 0 10,000
403 A X EHHS 201 A 10,000 0 10,000
01 X SHHMA=2LE L 10,000 0 10,000
OElerSot2 S (LED) w Al 10,000
gEd 25 8,316,035 6,931,920 1,384,115
= 2,021,200
Xl 3,122,000
= 3,172,835
oAgd B 8,316,035 6,931,920 1,384,115
= 2,021,200
X 3,122,000
< 3,172,835
HEOSL 22 AN 656,650 455,000 201,650
= 303,000
< 353,650
308 AHXIEHHSOIA 656,650 455,000 201,650
= 303,000
< 353,650
01 HIXNHHNBMNELS 656,650 455,000 201,650
Odstt2dd ZelAHf 656,650
= 303,000
< 353,650
Ot == Mol At 498,400 360,000 138,400
= 340,000
< 158,400
403 MtXISHH S0l & 498,400 360,000 138,400
= 340,000
< 158,400
01 XM A=2EE 498,400 360,000 138,400
OOtMESE moliole Al 498,400
= 340,000
< 158,400
TNHSAEA - 0| SAE ZH(0A=AM) 201,500 292,500 291,000
Xl 155,000
< 46,500
403 A X EHHS =0l A 201,500 292,500 291,000
Xl 155,000
= 46,500
01 X EHHA=LE L 201,500 292,500 291,000
OU&MESMISANI BB H 201,500
Xl 155,000
< 46,500




L HSIELEE-E
dM: GAHEE 25
& MEd B (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TNHSFAEA - 0| BAE ZH(0aE ) 2,297,100 2,642,900 A 345,800
X 1,767,000
< 530,100
403 UHXISHHSA=0l& 2,297,100 2,642,900 345,800
X 1,767,000
< 530,100
01 HXESHMA=LE L 2,297,100 2,642,900 A 345,800
OHMCEHIE MEH2ZE L 0ISAE &£X 2,297,100
Xl 1,767,000
< 530,100
NHASZEH - 0l SAE ZH(2FYEH) 600,000 300,000 300,000
Xl 600,000
403 X SHHE A0l & 600,000 300,000 300,000
Xl 600,000
01 XM AZ2EE 600,000 300,000 300,000
Oz=s&=sa A8 600,000
Xl 600,000
OS2 Px2cdlyH 28 XA 681,000 560,000 121,000
= 204,300
< 476,700
307 21201 A 681,000 560,000 121,000
= 204,300
< 476,700
02 B AAHEX 681,000 560,000 121,000
OtdEs=E *XdH 29 X& 681,000
= 204,300
= 476,700
Of=s2 #2dH &Xd X& 523,000 50,000 473,000
= 261,500
< 261,500
402 2I2H X201 M 523,000 0 523,000
= 261,500
< 261,500
01 2I2F 2 A B (KM ) 523,000 0 523,000
OtMssE xdH X8l XA 523,000
= 261,500
< 261,500
THAMEH & NAZR OtMME ES2e 10,935 11,520 A 585
307 glz2+ol & 10,935 11,520 A 585
02 QIZtE A AHE X 10,935 11,520 A 585
OXNHMERH 2 NHHASY OrMMs Es2e(
Ol AFE2E 10%) 10,935
=2 EsMd XA 49,200 49,200 0
308 XX EHSOIA 49,200 49,200 0
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01 HIXNHHNBHNEES 49,200 49,200 0
OOtMES=E ESAY X 49,200
HEM2t S MES 8l&EX 52 877,200 1,275,000 A 397,800
= 722,400
< 154,800
403 MtXISHHE X201 & 877,200 1,275,000 A 397,800
= 722,400
< 154,800
01 X SHHAN2E = 877,200 1,275,000 A 397,800
HEH2 S MES 3l&EXl =& 877,200
= 722,400
S 154,800
MEIS0IH =4 195,000 325,000 130,000
= 90,000
< 105,000
403 A X EHHS 20l A 195,000 325,000 130,000
= 90,000
= 105,000
01 X ESHMA=E L 195,000 325,000 A 130,000
OMH=0IH =4 195,000
= 90,000
= 105,000
ARzt AL XA 6,800 15,800 A 9,000
307 glz2tol & 6,800 15,800 A 9,000
04 QIZFHALAIH E = 6,800 6,800 0
OXNAESSHEHEZIIEGE#A S XA 6,800
MEf22XE XY & |4 100,000 100,000 0
= 100,000
308 XXM SOIA 100,000 100,000 0
= 100,000
01 IXNSHHBANEES 100,000 100,000 0
Odez2Xs X8 - 54 100,000
= 100,000
MERRIE (26 H) MK A 400,000 400,000 0
403 UHXISHH S X201 & 400,000 400,000 0
01 X SHHA2E= 400,000 400,000 0
OMEI XIS (2 H) MK 400,000
MEHH MBI AALY A FA 70,000 95,000 A 25,000
308 A EHHSOIA 70,000 95,000 225,000
01 AXSGHBLAEES 70,000 95,000 A 25,000
OMEIAHMEIAALY F& 70,000
MEHHEX B 121,250 0 121,250




FMN: =S ZEAY
dM: GAHEE 25
Sel: KelEE 25 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 121,250 0 121,250
01 At 22l 121,250 0 121,250
OMENGIE X 108 S2(0aEZL) 121,250
AASHAEA - 0| SAlE =M (o 94) 780,000 0 780,000
Xl 600,000
< 180,000
403 MtXISHHE X201 & 780,000 0 780,000
Xl 600,000
< 180,000
01 XM A=2EE 780,000 0 780,000
Odotd TUHASHFENM0IEAE &X 780,000
Xl 600,000
< 180,000
A272 08X ¥Ee = 54,000 0 54,000
308 XtXIEHHSOIA 54,000 0 54,000
01 AXHHILEES 54,000 0 54,000
OLn2 0t2sX e¥Ee 2= 54,000
SEEE ML Y 194,000 0 194,000
207 & 00 & H] 194,000 0 194,000
01 IR gyl 194,000 0 194,000
OSEEE dEddda g SA(MMEY) 194,000
HRES(OIZF82Y ) 13,314,358 13,900, 000 A 585,642
HEHAHXESOIZ2ZH 1) 13,314,358 13,900, 000 A 585,642
U Xae g4 13,314,358 13,900,000 A 585,642
701 JIEtSI HSHES 13,314,358 13,900,000 A 585,642
01 JIEtel HE &= 13,314,358 13,900, 000 A 585,642
OSFXA XY NJAANEMN SE3H d&s2 13,314,358
HY2FZH (DI ZHF3 Y 103,026 105,285 N2,259
J2ZEOl282Z D) 103,026 105,285 ~2,259
Jl2dHl (1= 30 103,026 105,285 A2,259
201 ¢et24] 46,800 47,340 A 540
01 A2 22l 46,800 47,340 540
OZZM JR2FZ (0 &EZ 10%) 46,800
202 odl 45,396 46,260 A 864
01 204l 45,396 46,260 864
OSZHEM ARFX (0B 10%) 45,396
203 YR =] 10,830 11,685 A 855
01 JI1228 2= 6,270 6,270 0
O E (0 E2 5%) 6,270
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